The angles on the Unit Circle are related
to the following Special Right Triangles.

For example 30° on the Unit Circle relate
to the following 30-60-90 triangle.
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You can u(%el)the unit circle to find the exact value of SinB, Cos6, and Tan®

- o To find the coordinates of the point at 120° draw a line down to the x-axis
: 1\3

to create a 30-60-90 triangle.

Cosb = the x-coordinate

y
Cos30r= 13 Tan6= —
Sind = the y-coordinate X o  LEE
J_y m=—2—- LG TR RT3
Sin30° = > =



To find the coordinates of the point at 120° draw a line down to the x-axis (_ 1 _,_E)
fofereateiaial=e0-20 tidngle: find the exact value of each:

1. Cos120° 2. Sin120°
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3. Tan120°
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Find the EXACT value of each.

1. Cos 2oL 2. sin3IL 3. Tan2IL
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Find the EXACT value of each. Use the given infomation to find the measure
of all the anlges 6 that meet each condition.
4. Cos(ﬂ) 5 Sin%r 6. Tan(ﬂ) 6 in degrees (0° < 6 < 360°)
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Find theangles Whe/re the y-coord is 0



Use the given infomation to find the measure
of all the anlges 6 that meet each condition.
0 in degrees (0° < 6 < 360°)

6. tan9 = —1 7. tan@ = J3 = (aO/ 2¥0°
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Find all angles where ‘ % g ’5L S Since Taniis the ratio of y/ix ymustbe
the x and y coord are and x must be % and they must have the
the same numbers but different / same sign in ofder to reduce to ﬁ
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Since Tan is the ratio of y/x y must be % l

and x must be - and they must have
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8. tanf = — J3



